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using System;

using System.Ling;



public class Solution {

private int[] 1d;

private int find(int _id) {
var node = _id;

while (node != id[node]) {

node id[node];

}

var root = node;

node = _id;

while (node != id[node]) {
_id = id[node];
id[node] = root;
node = _id;

}

return root,

private void union(int _nodel, int _node2) {

var fatherl find(_nodel);

var father2 = find(_node2);

I

id[fatherl] father2;

return;

public int NumIslands(char[,] grid) {

id = new int[grid.GetlLength(0) * grid.GetlLength(1l)];



for (var i = 0; 1 < id.Length; i++) {

id[1]

5
}

var width

grid.Getlength(1);
for (var i = 0; i <= grid.GetUpperBound(0); i++) {
for (var j = 0; j <= grid.GetUpperBound(1); j++) {
if (gridli, 33 == '1') {
if (i >0 && grid[i - 1, j] == "1") {

union(i * width + j, (i - 1) * width + j);

}
if (3 > 0 && grid[i, j - 1] == '"1") {
union(i * width + j, i * width + j - 1);
}
}
else {
id[i * width + j] = -1;
}

}

return (from father in id where father >= 0 select
find(father)) .Distinct().Count();

}



